o 01 A WR

23
29
32
33
35
39
57
61
62
62
62
63
65
67
76

79




H17 H20
H21
H22
H23

0

50 100  150m
fomootoat oo

130m 190m

_

T R N o, Ve . Tt S s SR Y P N

5%

p T

H.HW.L. AP 5.40m

H17 H20

H21

HW.L. AP 2.10m

H22
H23

AP+0.00m

H22.8

240
130

AP 21.00m

AP 22.00m




H21

O

100m ><(48 ) =
L-2 L-3
500m>=( 3 )=

4,800m
No.82(1 ) 1500
, m

©

42

150m

100m  10m
100m  10m

No.82(1
L-2

) No.46(2 ) a1
L-3 10

No.82 L-2 L-3

,200m,300m,400m,500m 5

500m 3
15

[EUNNEN

H19

No.82 HI19 L-2 No.46 L-3 5
( ) (50 =50 )
Im
30 100m 10m
1

No.82 H19 L-2 No.46 L-3 5

4

22 4
23 3

» o~

(50cm>50cm)
1
1

DO

500m

T T LT T T

4,700m

100m><47

x4

1,500m

500m><3

<

( 100m
C 100m

10m )
50m

100m

)

x5

Hlem

100m

FEEsEsasnseaen

LFit]

“H20

No.46

T T, L T T T T T T R TP T T PP TP R R T T T PP AP PR

<47 1

L-3

H16
80m

L-3

e

BRE AP

100

1 5

500m

500m




1-1

18
18
19
19
19
20
20
20
21

21

22

17
27
25

15
10

21

22
22
22
22

12
16
10




1-3

(No.82)

H.W.L. AP+2.10m

— -
L.W.L. AP+0.00m _
J e
0.25
1 5 8 1 1 2 2 3 3
! 5 8 2 5 8 3 5 8 4
H18 3
( H18 9 |[H19 1 |H19 4 |[H19 8 ([H20 1 |H20 4 |H20 9 |[H21 1 |H21 4 |H21 9 |H22 1 |H22 4 |[H22 9
( )
4 2 5 4 7 3 6 6 4 4 3 4 4 3
4 8 4 7 4
8 7 4 11 4 9 5 12 9 10
( ) @B 1M1 O1IO 1310 O @ Oo1@ @) @1 0 (2)
12.0 26.0 11.4 14.3 31.1 8.3 12.9 30.3 8.6 17.9 241 8.2 11.2 27.0
7
(No.82)
4
4 4 8 132 12 40 48 12 24
4 16 8
4 4 4
4
20
4 4 4 8
4
8
4 8 8 16 8 188 16 4
8 4 4
100
90
80
70
60
50
40
30
20
10 5%
o
H18 4 H




(No.82)

4
4
4 96 32 112 | 836 24 124 28
12 8 12 20 4 52 20 16 8
12 36 32
12
4
24 20 4 12 4
4 16 8 8
4 4
4 12 8 4
3 3 5 5%
80 |
70
60 —
50 —
40 — =
30 g N
20 \
0 ‘
H18 4 |H18 9 |H19 1 |H19 4 |H19 8 |H20 1 |H20 4 |H20 9 [H21 1 |H21 4 |H21 9 |H22 1 |H22 4 |[H22 9
Tl 5 8 1 1 1 2 2 2 3 3 3 4
5 8 5 8 5 8
E |= O = ™ ™ \ 9
(No.82) (—
64 164 8 40 684 16 192 | 240 | 220 88 128
12 4
8 10
4 4
4
8 12
80
70
60
50
40 —
30 ]
20 ] i
10 = = — —
0 —— I ——— I —— B ——— N —— | u = | | u = .
H18 4 H18 9 H19 1 |HIO 4 |H19 8 |H20 1 H20 4 H20 9 |H21 1 |H21 4 H21 9 |H22 1 |H22 4 H22 9
1 5 8 1 1 1 2 2 2 3 3 3 4
5 8 5 8 5 8
‘l O O = = ‘

10




50
| HEEEEEEEEEEEERN
go | : \ L——1

20 i
10 7 1

O T
H18 4 H18 9 H19 1 |H19 4 |H19 8 |H20 1 |H20 4 |H20 9 H21 1 H21 4 H21 9 |H22 1 H22 4 |H22 9
1 5 8 1 1 1 2 2 2 3 3 3 4
5 8 5 8 5 8
] = O
50
40 [
30 ' L
20
10 |
0
H18 4 |H18 9 |H19 1 |H19 4 [H19 8 H20 1 |H20 4 |H20 9 |H21 1 H21 4 |H21 9 H22 1 |H22 4 |H22 9
1 5 8 1 1 1 2 2 2 3 3 3 4
5 8 5 8 5 8
= ] | ]
11
18 Im>=<1m
0.53
1 40
10 18 /

12




1-5

H18.4 | H18.9 | H19.1 | H19.4 | H19.8 | H20.1 | H20.4 | H20.9 | H21.1 | H21.4 | H21.9 | H22.1 | H22.4 | H22.9
053 021 041 1.24 083 062 1.04 062 062 083 o062 0910 010/ 0.10

0.07) 0.10] 1.24| 1.45 1.04] 1.45 1.86 0.62] 0.83] 1.04 0.83] 0.62| 0.62| 0.62

H21 3 5

0.10 m?

13

1-6
19 8

( 1 ) ( 1 2 )

1 5 8 2 2 2 3 3 3 4

5 8 (H209) 5 8 5 8
(H18.9) | (H19.1) | (H19.4) | (H19.8) | (H20.1) | (H20.4) SV (H21.1) | (H21.4) | (H21.9) | (H22.1) | (H22.4) | (H22.9)
1
1 2 ( 1 1
1 2 2 L)
1 2 2 2 2 2 . 3

14




1-7

Vi

H.W.L. AP+2.10m

L.W.L. AP+0.00m

w N

15







AP (m)
-8 _HHNL APE 5m

MWL APS2 100 B
IR

I S
L i

| o LWL AP0, 00n fEM

12

20




1-9

21

H22 1

22




2-1
18 4
1 18 9
8 19 4
1 19 8 27 9 3
1 19 9 18
( ) ( 1 )
1 8 20 4
2 20 9
2 8 21 4
3 21 9
3 8 22 4
4 22 9
2-2
2-3.
4
w//]"/’/r\\\

+0.5m

| I H18 3
—————————— >
AP.(D : No.82 - H18 9

. 1 H19 9
i 2 H2 9
! 3 H2l 9
: 4 H2 9

70 80 90




Ne82

No.82 -
AP.(T) —ra— 0.70
6 T3 b —~— -0.80 -0.8
5 e, | e o 090 -090 —  —_-090
. \I_J_y g —H9 9 || oo — ~_
‘ T o o | e -100
2 7:21 o -110
1 2 9 |
0 [
-1 §§ I_] 4 4 4 4 L L L L L
2
3 . - ~ ) ~
-10 0 0 2 E % 50 60 0 8 @ 100 ® ® ® ®
® - ~ w
H183 | H189 | H194 | H199 | H204 | H20.9 | H214 | H219 | H224 | H229
-10 00
11 -01
-12 -0.2
g3 14 14 B 'g'i 04 -04 04 -04 -04
£ ~—T5 o o 04 —205 05
< -15 T3 ~ 16 -16  -16 <0 — ~—_
-16 % -06 .
17 : -07 =06 =0
18 =17 -08
_19 [-18 -09
0 . . . . . . . 1o
- ~ © < - ~ ® -
® ® w ® ® ® @ ©
- ~ o - ~ ®
H18.3 | H189 | H19.4 | H19.9 | H20.4 | H209 | H214 | H219 | H22.4 | H229 H183 | H18.9 | H19.4 | H10.9 | H20.4 | H209 | H214 | H219 | H22.4 | H22.9

25

2-4,

No.82

100

—— H18

90
40

—=—H19

80

——H20

70

——H21

60

—*—H22
—— H22

O O OO0 M~

40

30

H18 19 20 a
10
O Il Il
ﬁ/ 22 26 30 40 50 60 70 80 90 100

L w ' \

R O LR >e >
\/ \ . o
;//”/’/h\\

Ne82 ‘—m —

26




N 8 2 BHE e
( O s ) [ =T
[mESEI
Ofavhsy
)
O§ATh4y
= AN
100% O )bk
O k4245
o bEt 5
60%
40%
22m 80m
20%
0%
H18 H18 H19 H19 H19 H20 H20 H21 H21 H22 H22
4 9 4 8 9 4 9 4 9 4 9
(No82) 26m
111 fni
80%
60%
40%
26m 204 90m
0%
H18 H18 H19 H19 H19 H20 H20 H21 H21 H22 H22
4 9 4 8 9 4 9 4 9 4 9
(No82) 30m

100%
80%
60%

40%

30m 100m

20%

H18 HI9  HI9  HI19  H20 H20 H2l  H2L
4 4 8 9 4 4

No.82
AP.(D) — s 3
e 2em =1
. B 22m[1130m [} —we o ]
[ ~ w9 []
: / Bom| —= ° ||
1 / —wz o [l
o A /
—y ¥
R
2 90mH100m
3
10 0 10 2 kY % 5 60 0 3 £ 100
@
1 (No.82) 80m
100%
80%
60% —
40% 1
20%
0%
HI8 | HI8  HIO  HI9  HI9  H20  H20  H21 M1 H22 | H22
4 9 4 8 9 4 9 4 9 4 9
1 (No.82) 90m
100%
80%
60%
40%
20%
0%
HI8 | HI8  HI9  HI9  HI9  H20  H20 W2l W2l W22 | W22
4 9 4 8 9 4 9 4 9 4 9
1 (No82) 100m
100%
80%
60%
40%
20%
0%
HI8 | HI8  HI9  HI9  HI9  H20  H20  H2l  H2 W2l | W22
4 9 4 8 9 4 9 4 9 4 9

27

2-5.

28

20%
40

22m  30m

15
=+50

80m 100




29

30




31






